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All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1- 5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying

3 marks each. Answers to them should normally not exceed 60 words

each.

Questions No. 11 - 13 and 27 - 29 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14 - 16 and 30 - 32 are long-answer quesiions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Questions No. 11 and 19 are value-based questions.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.




Qus A
SECTION A

1. Tl axg =l gfean a%q e el I 2 ? 1

When is a good called an inferior good ?

2. “us gy & Sawer 1 1Y §qrsy | 1

Give meaning of “Returns to a Factor”.

3. %39 % @ aun # e s wd fifvea fima w e oft wmn 99 g
o gy 7, HEG SRy (IIMTH) T SFGER T BT 2 1
What will be the behaviour of marginal revenue in a market for a
product where a firm can sell any quantity at the given price ?

4.  FIUL ANTG HT gRHTST AR | 1%, 54

Define opportunity cost.

5. IERmEE 3 f gftam dfi | q

Define indifference map.

6. T Ig H HHA T 5 Ifd 3HE A §G B T 6 T IHE 8 A & AR 399
36 TG I AT W RIS I AL Gl | FG hl A 1 Hiwa WA Bl qRehe
<hITNT | | 3

Price of a good rises from T 5 to T 6 per unit but it had no effect on

demand of that good. Calculate price elasticity of demand of the good.

7. U @ W@Ied ¥ $el IRadH dRTd g5k 3R $A T 9k QI | 3
T |
a3 AN 1 SFIgR FHSST | [GIMET 1 TA0T ST |

Draw a total variable cost curve and total cost curve in a single diagram.

OR

Explain the behaviour of Average Fixed Cost. Use diagram.
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iz : =T F97 HacT gIggiT aiamiefal & [o7q 397 G 7 & T W8 |
Note:  The following question is for the Blind Candidates only in lieu of
Q. No. 7.

&S ITEVT i TERET | T INEd-T AN o SHdER o fafiE =won
! SAT3T | _ 3
rgEt

GEATeHF IaTE 1 TgEal ¥ SAEd T= AN 1 SAd8N GHIATSU |

State the different phases in the behaviour of ‘Total Variable Cost’ using
a numerical example.

OR

Explain the behaviour of ‘Average Fixed Cost’ using a numerical
example.

8. Ui i diwa & i fFuRen THLTET | I F HFWd A= B T TH &
TS H9 BT @ ? | 3

Explain the concept of price elasticity of supply. When is the value of

price elasticity of supply equal to one ?

9. I3 A EHuRumd sarse 9 W T Sedre durent I Ui B | 3
| State any three assumptions on which a ‘Production Possibilities Curve’
is based.
10. “Hiura Iufiar STTUROT U TEATeHS ISTE i TERdT § TSy | 3

Explain the concept of ‘marginal utility’ with the help of a numerical

example.
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11. fome 41 wren & fau gifFenes 8 | 9% 399 &l FH FH 39 WHR,
Al Faed AT TR AREAT P AW F, T H TRl 8 | TWHR b
Al & JEAEG T Bl AHATST | _ 4
Cigarette smoking is injurious to health. How can the government

reduce its consumption but only through the normal market forces.
Explain the chain of effects of government’s action.

12 m@%ﬁﬂ%ﬁaﬁm@a@ﬁ{ﬁm%ﬁm@%: 4

()  FTEl i HEal § giEdd
(i)  39q TR
Agat

m%ﬁ%ﬁﬁwwﬂﬁﬁm%&mqw%
()  IET W s ggrEmEr
() o IEg St Hmal ¥ qiEad

Explain the effect of the following. on supply of a good :
@) Change in prices of inputs
(i1)  Technological advancement

OR
Explain how do the following influence supply of a good :
1) Subsidy on production
(i1)  Changes in prices of other goods
13. Tk SUNIHT Fad o Fegeit X 3 Y 1 U a1 2 MM Eqem AR | ag Y
&I FHd 9¢ 1l g | fG@TsT 356 HR0 a%g Y I A 9 [ | 4

A consumer consumes only two goods X and Y and is in equilibrium.
Price of good Y rises. Show that it will lead to fall in demand for good Y.
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15.

16.
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Tuemse fh uw guiean wfaanft swm i Frefafea fRivarst % wn afom
e 2

() A o U H YA A I T

(i)  HHI DI U BIeA I TaFal

Explain the outcome of the following features of a perfectly competitive

market :
(1) Freedom to the firms to enter the industry
(i) Freedom to the firms to leave the industry

IAME % foveiwer # IuWiEl Egod I WG SAisT IR IThl SATE
HINT |

FAST
mmmaﬁﬁmﬁﬂm“m@tmﬁmml

State and explain the conditions of consumer’s equilibrium in the
indifference curve analysis.

OR
State and explain three properties of indifference curves.

frfafea & R0 Sad 3T ScTE F Tger TR TEEE HINT R 3 'R
W AN T HifSe | g dra IR g o (genfy)’ ot s s
Hif

e (3HTeAT) 1 ]2 |3 |4 |s
$A ATH (3) 1119 |24 |28 |30
HA AT (3) 1018 |25 |30 |36

Giving reasons identify the equilibrium level of output and find profit at
this output using the ‘Marginal Cost and Marginal Revenue’ approach
from the following :

Output (units) 1 12 1|8 |4 |5
Total Revenue (%) 11119 |24 |28 |30
Total Cost (%) 1018 (25 |30 |36




17.

18.

19.

Qs d
SECTION B

et 3qu <1 it T | |

Define intermediate consumption. ro0d

- geq Tafmg & = eIl B 2

What is barter ?

FIS Teh heH 9d15U I {6 TLHR 3794 oo & 71598 ¥ 791 R Thet & o=
IR FH FE & fou o gl B

Name any one step the government can take through its budget to

reduce the gap between the rich and the poor.

20.

21.

22.

23-
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TR T 8 ?

What is depreciation ?

e <h1 gftsmr s |

Define investment.

‘Tz fHawr’ R Ui Fewr & o9 I g |
Explain the distinction between ‘autonomous investment’ and ‘induced
investment’.

TR =& B T = 3R GSia = & i it U S .
YR 3 ? TLhI HHAE T a9 39 399 & fmg o7 ¥ 31ran 3 TR =41 2

What is the basis of classifying government expenditure into ‘Revenue
Expenditure’ and ‘Capital Expenditure’ ? Which of these types of

expenditure is payment of salaries to government employees and why ?

7 P.i:0.




24.

25.

26.

27.

28.
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IR § 71§ ekl Sier 1 fafma o § sl gfg 5% 8 | 36 ua &
fRal W & T9TE ggd i HWTET @ I T 2 : 3

In India, exchange rate of U.S. Dollar has risen considerably. What is its
likely impact on Indian exports and why ?

THATST g1 4 fohe TohR STTawarsharedl & aral Tl i T &l g a8 2 3
HAYAT
g1 MY <hl ST THIT |

Explain how money has solved the problem of double coincidence of
wants. '

OR
Explain the concept of money supply.

frfafaa @ o % dqe@ TR &1 aiead IR 3

() I A W ITHN = T 40
i)  €rra g sgh 0-8
Gi)) Tew T 80

Calculate equilibrium level of income from the following :
(1) Consumption expenditure at zero income T 40
(11)  Marginal propensity to consume 0-8
(i11)) Investment < 80

PAH Fga- § WA Ge9asRl 3 THEING ToIagRil o o9 3ol garsT |
39 3R 1 R Hg @ ? 4
Distinguish between the autonomous transactions and the

accommodating transactions in the Balance of Payments. What is the
significance of this distinction ? '

H21T S 1 “GEHR HT S 3 T FE GHET | 4

Explain “Government’s banker and agent” function of central bank.

8




29.

30.

et foh ford YR ORI 991¢ % WIEIW ¥ GIUAl o e &
qYTfId S Hehdl B | 4

arerat
TR =1eT 31T Terfies 91l & o9 7t g9y |

Explain how government can influence allocation of resources through
government budget.

OR
Explain the distinction between fiscal deficit and primary deficit.

a1 gEEar ¥ Thifd A=aud iR Faehifa 1= & 319 gHEsT | 6

Explain the meaning of inflationary gap and deflationary gap with the
help of diagrams.

R=feiiad F97 el gIBgIT qaemarel & Io7e 397 T8930 % T 73 |

Note : The following question is for the Blind Candidates only in lieu of

Q. No. 30.

Thifd e 3t eraEhifa S=aUd % 31 HEEY | 3% FH HH % TR T

39T & 1T il | 6

31.
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Explain the meaning of inflationary gap and deflationary gap . Explain
any one measure by which these gaps can be reduced. )

(m)ﬁsﬂmaﬁt(@)wﬁmwm%&ﬁqmwmﬁm: 2,4

_ (3R &)
@ T _ 10
(i) =S qSit w1 ITHM " 15
(i) afre TST I ty 150
Gv) Toreel @ Frae =re] gt e 6
(v) focu @ faet one om | 7
(vi) Tt e & <f gfoarfe s=< 5

9 | RTO. .




32.
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(vii)

(viid)

(ix)
x)
(xi)

HTHR R =I1e] Tl
Jafre I
TSR B0 | AT

TR DI B ATE! R 3™
et TIeas

8
20
9
30
25

Calculate (a) Private Income and (b) Gross Domestic Product at Market

Price :

@
(i1)
(iii)
@iv)
)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

Corporation tax

Consumption of fixed capital

Personal disposable income

Net current transfers from abroad

Net factor income from abroad

Retained earnings of private corporate sector
Transfer pairments by government

Personal tax

National debt interest

Domestic income accruing to government

Net indirect tax

(T in arab)
10
15
150

20
9

30

25

HI 0 g AT R U o 1 s e wwe feafafea % | @

SIIER
®

(i)
(111)

WWET%Q:
%H g feetell ST Iusn
BT HHATRAT hl I3 T JTaH
FEaarel § TRl 1 g ST
rgrat
10
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“Freafies T 6 FEUTIT GHSRT | THIAET F SR e (Sl %
B ¥ el TP A Hl A Y A FeArwr w1 GEH A& A S
TR |

Giving reason explain how should the following be treated in estimating

national income :

1) Electricity consumed by a firm

(i1)  Pension paid to the retired employees
(iii)) Free treatment of the poor in hospitals

OR

Explain the concept of “real income”. Explain why, due to. the presence of
externalities, real national income in itself cannot be treated as a true
index of welfare.
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